

LOS BANOS Los Banos IV-A VAT Reg. TIN: 000-864-006-00004

Request for Quotation/ Bid Form (Technical Specifications) BIOTECH-IMMUNOLOGY LABORATORY

		BY: BA BY: BA EADLINE OF UBMISSION:	C SECRETARIAT DATE: 06-01-203
Fund Code: MOP: Contact No: Contact Person	General Fund Code:46-0 Small Value Procurem 536-3680 Lorna U. Manalo/Anchilla L.	UPLB-RQ-	1-037-23-I-R Part 1 DF SUBMISSION

Please quote your	lowest price or	the item/s	listed helow	subject to the	General Conditions below.	

- 1, Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not
- 2. Price quotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.
 3. Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional statement of specification and compliance issued by the manufacturer and sample.
 4. Quotation through fax/email is acceptable. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).
 5. Quotations exceeding the Approved Budget for Contract shall be rejected.
 6. Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation
 7. Others:

 REQ for PR No.: Hardware and construction supplies 115 CV SOUS

Suppliers Name:

TEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
		Materials needed for Animal facility (Ceiling Works)								
1		Fiber cement board, 4.5mm thk x 1.22m x 2.44m, open joint ceiling board, asbestos free	pc	48	770.00	36,960.00				
2		Metal Furring, double , 6mm thk x 19mm x 50mm , powder coated	рс	160	148.50	23,760.00				
3		Carrying channel, metal, 1.0mm thk x 12.5mm x 38mm, POWDER COATED	рс	40	220.00	8,800.00				
4		Wall angle, 0.6mm thk x 25mm x 25mm, powder coated	рс	26	88.00	2,288.00				
5		Hanger rod, Full threaded, 6mmx 3m	pc	80	176.00	14,080.00				
6		Clips, metal, standard size, 0.5mm thickness	рс	500	11.00	5,500.00				
7		Blind Rivets #1/8 x 3/4 700 pcs. per box	box	10	495.00	4,950.00				
8		Blind Rivets #1/8 x 1/4, 700 pcs. per box	box	4	309.10	1,236.40				
9		Ceiling Breather, Pre-assembled wooden, with "x 1 1/2" K.D. Tanguile wood end frame, 1/8" square aluminum mesh wire clipped with 12mm x 25mm K.D. 54s wood liston, 1"x1" K.D. tanguile wood slats breather	lm	12	251.90	3,022.80				
10		Concrete Nail #1	kg	2	96.80	193.60				
11		Quick dry enamel, chocolate brown, premium quality	liter	1	209.00	209.00				
12		Semi-gloss latex Paint, white , premium guality	gal	24	629.20	15,100.80				
13		Paint Brush, 2", white bristle	pcs	2_	44.00	88.00				
14		Paint roller with tray and handle, 6"	set	4	198.00	792.00				
15		Sand Paper , 100 grit, WATERPROOF	ft	5	50.60	253.00				
16		Rugs, cotton	kq	2	79.20	158.40				
17		Paint thinner, premium grade	qal	_ 1	462.00 TOTAL ABC	462.00 117,854.00				
						The state of the s	TOTAL QUOTED AMOUNT I	N WORDS:		1

Reviewed and	Checked By	h
	DON	DAG THIC 81-2023
		DAG TMC 91-2023

Please quote at your government price (including VAT) and state that the time within which you can make delivery. It will be appreciated if we can have your quotation in the office as soon as possible on or before the deadless standard. 23
g VAT) and state that the time within which you can make delivery. It will be apply the office as soon as possible on or before the deadline stated herein.

WHAT AND AND THE AND T

1. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission.
2. In order to assure that manufacturing defects shall be corrected by supplier, a warranty security shall be required from the contract awardee for a minimum period of three (3) months, in the case of EXPENDABLE SUPPLIES, or a minimum of one (1) year warranty and two (2) to three (3) years extended warranty (if applicable) in the case of NON-EXPENDABLE SUPPLIES after acceptance by Enduser of the delivered supplies.

3. Delivery period within 14 calendar days.

Derivery period within — Calendar days.
 Award of contract shall be made to the lowest quotation wich complies with the technical specifications, and other terms and condition stated herein 5. UPLB reserves the right to reject any or all offers as may be considered most advantageous to the University.
 Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any of your duly authorized representative/s.

irements for Suppliers (GPPB Resolution No. 21-2017)
REQUIREMENTS Negotiated Procurement-Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6) Negotiated Procurement-Shopping (Section 52) Negotiated Procurement-Lease of Real Property or Venue (Section 53.10) Procurement-Small Value Emergency (Section 53.2) Procurement (Section 53.9) 1 Mayor's/Business Permit 2 PhilGEPS Registration Number Professional license/ CV (consulting services)
 PCAB License (for Infrastructure) FOR ABO'S ABOVE 500K 5 Income / Business tax returns (except for government agencies FOR ABC'S as lessor)
Compiles Sworn Statement FOR ABO'S ABOVE

The state of the s	/	FOR ABC'S
7 NFCC for Infrastructure with ABC above Ph500k		ABOVE SOK
fter having carefully read and accepted your General Condition	ons. I/We quote you on the Item at prices noted above	ve.
	0110, 0110 40010 300 1	
lame of the Company:	Tel. No. :	
ddress:	Tel. No. :	
	Fax No.:	
	Email Address:	
Signature over	Ellian Address.	



÷ , ,

UNIVERSITY OF THE PHILIPPINES LOS BANOS LOS BANOS, IV-A VAT Reg. TIN: 000-864-006-00004

Request for Quotation/ Bid Form (Technical Specifications) BIOTECH-IMMUNOLOGY LABORATORY

							DEADLINE SUBMISSIO	pan 0	ECRETA	RIAT TOI-2023
Suppliers Name:			Date			JUN 0	5 2023			
					Fund Code: MOP:	General Fund Code: Small Value Procu	rement	-		
					Contact No: Contact Person	536-3680 Lorna U. Manalo/Anchi	aU8668-R	Q-4-0	37-23-1-	-K Hanta
	Please quote your lowest price on the item/	s listed b	elow, su	bject to the Gene	eral Conditions b	elow.	DEADL	NE OF S	UBMISSI	NC
Note: 1. Bidders shall p	provide correct and accurate information required in this form. A	VII entries	must be t	ypewritten or in pr	rint and properly a	ccomplished. Do not leave bla	nk entries, put f	N/A for not applica		
2. Price quotation	n/s to be denominated in Philippine Peso shall include all taxes, indicate the BRAND and MODEL NUMBER for equipment and it	duties, an	d/ or levi	es payable.	es shall be in the	V form of manufacturario un am	vith P	CAB	Licens	0
specification and 4. Quotation throu 5. Quotations exc	compliance issued by the manufacturer and sample. ugh fax/email is acceptable. Winning bidder shall submit origina peeding the Appoved Budget for Contract shall be rejected.	l signed R	tQ before	issuance of Puch	nase order (P.O.).	ioni of manuacturers urran	Lumpsa	m Awa	and Afor	
6. Documentary r 7. Others:	requirements per Memorandum No. 03 Series of 2017 shall be a						Ya	rt -	Part 4	
	RFQ for PR No.: Service	s (FOR I	REHABIL			E FACILITY) PHASE 4				r
ITEM GENERAL NAME No. OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed sechnical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)	
	Rehabilitation of animal house (Phase 4 Ceiling									
1 Rehabilitation of animal house (Phase 4 Ceiling works)		lot	1	71,890.94	71,890.94					
	Demolition of concrete, overhang of the existing									
	inside structure Gable and wall covering									
	Ceiling works									
	Painting works									
	Hauling and disposal of construction debris	1		TOTAL ABC	71,890.94					
					1 1,1,000.00	TOTAL QUOTED AMOUNT	IN WORDS:			
Reviewed and Ch	DONNY REVALUE OF STREET OF	ithin whi on or bef	ch you coore the d	an make delivery leadline stated h	r. It will be appre- erein.	ciated if we can have your q QUAD U. MANALO/ ANCIALLA C. C BUYER/ END USER	uotation in the	office as soon		
I. In order to assure that man ninimum of one (1) year was Delivery period within 14	valid for a period of at least (30) calendar days from the date of submission. rufacturing defects shall be corrected by supplier, a warranty security shall be arranty and two (2) to three (3) years extended warranty (If applicable) calendar days.	e required f in the case	of NON-E	KPENDABLE SUPPI	JES after acceptance	eree (3) months, in the case of EXP a by End-user of the delivered suppli	ENDABLE SUPPles.	LIES, or a		
Award of contract shall be UPLB reserves the right to Any interlineations, erasure	made to the lowest quotation wich compiles with the technical specification reject any or all offers as may be considered most advantageous to the U e, or overwriting shall be valid only if they are signed or initiated by you or an	Iniversity.			in					
Requirements for Suppliers	s (GPPB Resolution No. 21-2017) REQUIREMENTS		pping	Negotiated	Negotiated	Negotiated Procurement-	Negotiated	1		
		(Sect	ion 52)	Procurement- Small Value Procurement (Section 53.9)	Procurement- Lease of Real Property or Venue (Section 53.10)	Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53.2)			
1 Mayor's/Business Pe			/	/		/	1	1		
 PhilGEPS Registration Professional license/ 	CV (consulting services)			1	reviews	/				
4 PCAB License (for In	frastructure)			FOR ARCH LINE			FOR ABC'S ABOVE			
5 Income / Business to	ax returns (except for government agencies as lessor)	TO 7		FOR ABC'S ABOVE 500K FOR ABC'S ABOVE	× 6	,	FOR ABC'S ABOVE			
6 Omnibus Sworn Stat				FOR ABOVE BOK			500K FOR ABC'S ABOVE			
7 NFCC for Infrastructu	ure with ABC above Ph500k				(Markey) CE		50K	J		
	read and accepted your General Conditions, I/We quote yo	u on the l	tem at p	rices noted abov	e.					
Name of the Company: Address:					Tel. No. :					
nuuress.	-	-1			Fax No.:					
Signature over Printed	The state of the s			-	Email Address:					
Name of Representative	e:				Date:					
Position:				-	Date.			2		



UNIVERSITY OF THE PHILIPPINES

LOS BANOS

Los Banos, IV-A VAT Reg. TIN: 000-864-006-00004

Request for Quotation/ Bid Form (Technical Specifications) BIOTECH-IMMUNOLOGY LABORATORY

BY: DATE: 06 -01-23

JUN 0 5 2023

UPLB ROADLNE OF SUBMISSION

DEADLINE OF	
SUBMISSION:	

Suppliers Name:	Date	0	With PCAB	License
	Fund Code:	General Fund Code:46-000-04 Small Value Procurement	Lumpsum	Award Aor
	Contact No:	536-3680 Lorna U. Manalo/Anchilla L. Comia	Part 1	- Part4
				\$ 10000000 NO 100 I

Please quote your lowest price on the item/s listed below, subject to the General Conditions below.

Note:

- 1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not applicable.
- 2. Price guotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.
- 3. Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional statement of specification and compliance issued by the manufacturer and sample.
- 4. Quotation through fax/email is acceptable. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).
- 5. Quotations exceeding the Appoved Budget for Contract shall be rejected.
- 6. Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation
- 7. Others:

RFQ for PR No .:

Hardware and construction supplies FOR REPAIR OF NITL ANIMAL HOUSE PHASE 44

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	APPROVED	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
		Materials for the repair of animal house Phase 4 (for electrical works)								
1		PVC Pipe,50mm ø x 3m Thick Wall, Powerguard, 80 Joules Izod Impact, 55MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14, "Neltex" or approved equal	pc	14	390.50	5,467.00				
2		PVC Pipe, 25mm ø x 3m , Thick Wall, Powerguard, 80 Joules izod Impact, 55MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14, "Neltex" or approved equal	рс	28	166.50	4,662.00				
3		PVC Pipe, 20mm ø x 3m, Thick Wall, Powerguard, 80 Joules Izod Impact, 55MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14, "Neltex" or approved equal	рс	100	110.00	11,000.00				
4	1	PVC Elbow, 50mm ø , 90° Bend, Long Sweep, Thick Wall, 80 Joules Izod Impact, 55MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14, or approved equal	рс	8	105.00	840.00				
5		PVC Elbow, 25mm ø , 90° Bend, Long Sweep, Thick Wall, 80 Joules izod Impact, 55MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14, or approved equal	рс	20	26.50	530.00				like.
6		PVC Elbow, 20mm ø , 90° Bend, Long Sweep, Thick Wall, 80 Joules izod Impact, 55MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14, or approved equal	рс	60	16.00	960.00				

7	PVC Adaptor	PVC Adaptor, 50mm ø , 80 Joules Izod Impact, 55MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14, "Neltex", or approved equal	pc	2	120.00	240.00			W.	,
8	PVC Adaptor	PVC Adaptor, 25mm ø , 80 Joules Izod Impact, 55MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14, "Neltex", or approved equal	рс	8	33.50	268.00				
9	PVC Adaptor	PVC Adaptor, 20mm ø , 80 Joules Izod Impact, 55MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14, "Neltex", or approved equal	pc	126	9.00	1,134.00	201			
10	Locknut & bushing	Locknut & Bushing, Metal, 50mm ø	рс	2	95.50	191.00				
11	Locknut & bushing	Locknut & Bushing, Metal, 25mm ø	рс	8	28.50	228.00				
12	Locknut & bushing	Locknut & Bushing, Metal. 20mm ø	рс	126	20.00	2,520.00				
13	Clamp	Clamp, Saddle, 50mm ø	рс	20	70.00	1,400.00				
14	Clamp	Clamp, Saddle, 25mm ø	рс	84	12.00	1,008.00				
15	Clamp	Clamp, Saddle, 20mm ø	рс	396	10.50	4,158.00				
16	Conduit	Flexible Metallic Conduit (FMC), 20mm ø	mtr	30	55.00	1,650.00	N IV			
17	Connector	FMC Metal Connector, 20mm ø	set	30	20.00	600.00	***			
18	Sovent Cement	PVC Pipe Solvent Cement, "Neltex", or approved equal, 400 cc/can	can	5	210.50	1,052.50	***			
19	Таре	Rubber Tape, Self-fusing, 30mil, 80°C, 3/4"x22', Tape no. 15, "3M" or approved equal	rl	5	80.50	402.50	***************************************			
20	Electrical Tape	Electrical Tape 1700, Highland Medium Grade, Vinyl, 7 mil thk., 90°C/194°F, 3/4"x36"/rl, "3M" or approved equal	rl	10	44.00	440.00	44			
21	Utility box	G.I.Utility Box, 2" x 4", Ga. No. 16, Deep Type, Painted	рс	35	41.00	1,435.00	A 194			
22	Junction box	G.I. Junction Box and Cover, 4" x 4", Ga. No. 16, Deep Type, Painted	рс	30	44.00	1,320.00				
23	Juntion box	G.I. Square Box and Cover, 4" x 4", Ga. No. 16, Deep Type, Painted	рс	10	60.00	600.00				
24	Paint	Red Oxide Primer Paint	gal	1	700.00	700.00		- 11 10 - 11 10 - 11 10 - 11 10 - 11 10 - 11 10 - 11 10 - 11 10 10 - 11 10 - 11 10 - 11 10 - 11 10 - 11 10 - 1		
25	Stranded wire	Wire, Stranded ,30mm², 9.0mmØ, 311kg/km, 115A THHN/THWN-2, Stranded, 600V, 90°C, UL83, ASTM: B8, PNS 35, "Phelps Dodge" or approved equal	mtr	150	311.50	46,725.00				
26	Stranded wire	Wire, Stranded, 14mm², 6.5mmØ, 147kg/km, 70A THHN/THWN-2, Stranded, 600V, 90°C, UL83, ASTM: B8, PNS 35, "Phelps Dodge" or approved equal	mtr	50	135.50	6,775.00	10/4			
27	Stranded wire	Wire, Stranded, 5.5mm ² , 4.1mmØ, 58kg/km, 40A THHN/THWN-2, Stranded, 600V, 90°C, UL83, ASTM: B8, PNS 35, "Phelps Dodge" or approved equal	box	1.50	6,600.00	9,900.00	W. C.			
28		Wire, Stranded, 3.5mm ² , 3.3mmØ, 37kg/km, 30A THHN/THWN-2, Stranded, 600V, 90°C, UL83, ASTM: B8, PNS 35, "Phelps Dodge" or approved equal	box	5	3,696.00	18,480.00	***			
29	Stranded wire	Wire, Stranded, 2.0mm ² , 2.8mmØ, 24kg/km, 25A THHN/THWN-2, Stranded, 600V, 90°C, UL83, ASTM: B8, PNS 35, "Phelps Dodge" or approved equal	mtr	125	26.00	3,250.00	0.00			
30	Switch	Switch, One-Gang with face plate and cover, 16A, 250V, Wall Mounted Recessed Type, Non Screw Connecting Hole (Global Terminal IEC Base Technology) Conform to IEC60669-1 standard, BPS Certified Product Safety License No.Q-1168/1169, "Panasonic" or approved equal	set	5	180.00	900.00				
31	Switch	Switch, Two-Gang with face plate and cover, 16A, 250V, Wall Mounted Recessed Type, Non Screw Connecting Hole (Global Terminal IEC Base Technology) Conform to IEC60669-1 standard, BPS Certified Product Safety License No.Q-1168/1169, "Panasonic" or approved equal	set	2	220.00	440.00				
32	Switch	One-Gang Three-Way Switch with face plate and cover, 16A, 250V, Wall Mounted Recessed Type, Non Screw Connecting Hole (Global Terminal IEC Base Technology) Conform to IEC60669-1 standard, BPS Certified Product Safety License No.Q-1168/1169, "Panasonic" or approved equal	set	2	240.00	480.00				
33	Convenience Outlet	Convenience Outlet, One-Gang with Safety Shutter, face plate and cover, Universal Slot, Grounding Type,16A, 250V, Wall Mounted, Recessed Type,Non Screw Connecting Hole(Global Terminal IEC Base Technology) Conform to IEC60884-1 standard, BPS Certified Product Safety License No.Q-1168/1169, "Panasonic" or approved equal	set	8	240.00	1,920.00				

34	Convenience Outlet	Convenience Outlet, Duplex with Safety Shutter, face plate and cover, Universal Slot, Grounding Type,16A, 250V, Wall Mounted, Recessed Type,Non Screw Connecting Hole(Global Terminal IEC Base Technology) Conform to IEC60884-1 standard, BPS Certified Product Safety License No.Q-1168 /1169, "Panasonic" or approved equal	set	26	320.00	8,320.00			
35	Switch	Photocontroller Switch (Photocell), Single-phase, 230V, 10A, 60Hz with Receptacle including Mounting Bracket and other Standard Accessories	set	1	900.00	900.00			
36	LED Tube	T8 LED Tube, 2 x 16Watts, Cool White, "Philips" in Troffer type, Recessed Type Luminaire with 3mm thick prismatic acrylic diffuser, white powder coat paint finished, Zinc Phosphated Steel Sheet Housing "Fumaco" or approved equal	set	13	4,600.00	59,800.00			
37	LED Tube	LED Bulb, 1 x 10.5 Watts, Cool White, 220V, "Philips" or approved equal in 6"Ø Recessed Mounted Round Downlight, with Aluminum Reflector and Glass Cover	set	8	968.00	7,744.00			
38	Emergency light	Emergency Light, 2 x 1.5 Watts LED, 100-240Volts (+/- 10%), 50/60Hz, Emergency Time: 24 hours (6V, 4.5Ah Battery) Sealed Lead-Acid, Daylight, Daylight 6,000K "Claro" or approved equal	set	8	3,520.00	28,160.00			
39	Panel board housing	NPB - Panel Board Housing: from Ga.#16 (base metal	set	1	49,500.00	49,500.00			
		thickness) Plain G.I. Sheet. Complete with Door Hinges,				1			
		Polished Metal Catch and Lock, Pre-painted/Pre-molded,							
		Powder Coated Finish, (Manufacturer's Standard Finish)							
		Main: 100AT,100AF, 3-Pole, 230V, Molded Case Type,							
	T	Industrial Circuit Breaker, Thermal Magnetic Trip, Noninter-						1	
	 	changeable Trip, UL listed for HID, UL listed HACR, "GE" or					 110110		(A)
	 	approved equal. Bus Bar Copper Data: 1/4" thk., 1/2" width,				İ	 3111		
	 	Cross section: 0.125 sq.inch. , Weight: 0.482 per linear Ftlbs.,				İ			
	 	Carrying Capacity: 125 Amperes (Current Density: 1000				1			
	 	Amperes per sq.inch.)				Ì			
	 	Branches: 11 - 30AT, 50AF, 2-Pole, 230V				t			
	 	1 - 20AT, 50AF, 2-Pole, 230V		3		+	 		
-	 	All Branch Circuit Breakers are Molded Case and Bolt-on				ł	 		-
	 	Type, 230V Class, 22kAIC Internal Common Trip, UL				1	 	 	
	 	listed as SWD rated, UL listed HACR, "GE" or approved equal				+	 	 	
40	Circuit breaker		ant	4	3,800.00	15,200.00		1 1888	1
40	Circuit breaker	Circuit Breaker, Bolt-On Type, 30AT, 50AF, 2P, 230V, 230V Class, 22kAIC, Internal Common Internal Common Trip, UL listed as SWD rated, UL listed HACR, "GE" or approved equal in Nema-3R Metal Enclosure, Ga. No.16., UL listed/CSA certified, Pre-molded/Pre-painted, Powder Coated Finish with 25mm x 25mm Brass Padlock (For ACCU's Service Breaker)	set	4	3,800.00	15,200.00			
41	Telephone outlet	Telephone Outlet, 6P4C, Shutter Type with Plate and Cover, " Panasonic" or approved equal	set	1	340.00	340.00			
42	Таре	Warning Tape with Marking "Caution: Electric Cable Below", 3" x 1000ft. x 0.005" thk., "3M" or approved equal	mtr	100	25.00	2,500.00		0	
43	Drillbit	Masonry drillbit, 1/2" dia.	pc	3	220.00	660.00			
44	Grinding disc	Grinding disc, 4" dia. , Premium grade	pc	3	269.00	807.00			1
45	Cutting disc	Diamond Cutting disc,4" dia. , Diamond Tip, Continuous Rim, Heavy Duty, Premium brand	pc	3	500.00	1,500.00			
46	Hacksaw blade	Hacksaw Blade, 24TPI, 2pcs/set Heavy duty, Premium brand	set	1	250.00	250.00			
47	Brush	Paint brush, Wide 1"	рс	3	20.00	60.00			

the state of the s	Itr	1	150.00	150.00		
Thinner Paint thinner, premium grade		0.50	75.00	37.50		
Thinner Paint thinner, premion give	kg	0.50	TOTAL ABC	307,604.50		
Waste cloth (Rag-round, white)			1017.6		OTAL QUOTED AMOUNT IN W	VORDS:
				,,	JIAL 400	
fler						
/	=1450					
Reviewed and Checked By:		_			· · · · · · · · · · · · · · · · · · ·	as soon as possible
Reviewed and Checked By: JOSENTO VILLENTA BAC TWG ease quote at your government price (including VAT) and state that the time within which you before the			uill be annrecii	ated if we can have	ve your quotation in the office	33550011457
BAC TWG BAC TWG WAT and state that the time within which you	ı can mak	e delivery.	icin	,	alo J. MANALO/ANCHILLA L. COM	N
before the	e deadline	e stated nei	en.	Lulian	ale	ΔΙΔ
430 440.				/LORNA L	J. MANALO/ ANCHILLA L. COI	VIII
			-	*	BUYER/ END-USER	
§ .						
RMS AND CONDITIONS: Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission. In order to assure that manufacturing defects shall be corrected by supplier, a warranty security shall be required from the case of NON-EXPENDABLE is a warranty and two (2) to three (3) years extended warranty (if applicable) in the case of NON-EXPENDABLE.					THE ARIE SIRP	UES or a minimum of one
MS AND CONDITIONS:		10 100	t pariod (of three (3) months, i	n the case of EXPENDABLE SUFF	LILO, OI D
RMS AND CONDITIONS. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission.	m the contra	act awardee fo	r a minimum period t	delivered supplies.		
rice quotation/s shall be value to a portion shall be corrected by supplier, a warranty security shall be required.	SUPPLIES a	after acceptan	ce by End-user of the	denotion only		
order to assure that manufacturing detects share be contained (if applicable) in the case of NON-EXPENDABLE	0011					
r warranty and two (2) to three (3) years extended warranty (1)						
• ************************************		ri - stated b	orain.			
calendar days.	erms and cor	nation stated t	IGIGIT			
Delivery period within 14 calendar days. Award of contract shall be made to the lowest quotation wich complies with the technical specifications, and other technical specifications, and other technical specifications, and other technical specifications, and other technical specifications and other technical specifications are specification of the considered most advantageous to the University. UPLB reserves the right to reject any or all offers as may be considered most advantageous to the University.			CWC.			
Award of contract share debt to reject any or all offers as may be considered most advantageous	v authorized	representativ	e/s.			
UPLB reserves the right to reject any or your shall be valid only if they are signed or initiated by you or any or your		Sat car				
JPLB reserves the right to reject day or year. Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or year.	y man ata an an	S. 10			Negotiated Procurement-	Negotiated
OPEB reserves the right to experience of overwriting shall be valid only if they are signed or initiated by you or any or your and any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or your any or you or any or your any or you or y				Negotiated	Negotiated Procurement-	Procurement-
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any		Shopping	Negotiated	Procurement-	Scientific, Scholarly or Artistic	Procurement- Emergency
OPLB reserves the fight to so, or overwriting shall be valid only if they are signed or initiated by you or any or your and only interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your angles.				Procurement- Lease of Real	Work, Exclusive Technology and	Procurement-
OPLB reserves the fight to spread or overwriting shall be valid only if they are signed or initiated by you or any or your Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or your any or you or any or your any		Shopping	Negotiated Procurement- Small Value Procurement	Procurement- Lease of Real Property or Venue	Work, Exclusive Technology and	Procurement- Emergency
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any		Shopping	Negotiated Procurement- Small Value	Procurement- Lease of Real	Work, Exclusive Technology and	Procurement- Emergency
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9)	Procurement- Lease of Real Property or Venue	Work, Exclusive Technology and	Procurement- Emergency
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or year. Requirements for Suppliers (GPPB Resolution No. 21-2017) REQUIREMENTS		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9)	Procurement- Lease of Real Property or Venue	Work, Exclusive Technology and	Procurement- Emergency
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and any or you or any or you or any or your		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9)	Procurement- Lease of Real Property or Venue	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2)
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and in the property of the prope		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9)	Procurement- Lease of Real Property or Venue	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2)
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and any or you or any or you or any or your and any or you or you or you		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9) /	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2)
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or any you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you o		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9)	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / FOR ABO'S ABOVE SK FOR ABO'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or any you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you or any or you o		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE 50K FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or yo		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / FOR ABO'S ABOVE SK FOR ABO'S ABOVE
Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or you are any or you or any or you are any o		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your and interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or yo		Shopping	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or you are any or you or any or you are any o		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or yo		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or yo		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or you or any or you or any or you or any or you or yo		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or you or any or you or any or you or any or you or yo		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or you or any or you or you or any or you or you or any or you or you or you or you or you or any or you or yo		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Work, Exclusive Technology and	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or your any or you or you or any or you or any or you or any or you or yo		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6) / / / /	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or you are any or you or any or you are any o		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6) / / / /	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or you are any or you or any or you are any or you or any or you are any or you or any or you are any or you or any or you or any or you are any or you or any or you are any or you or you or the late. After having carefully read and accepted your General Conditions, I/We quote you on the Ite Name of the Company: Address:		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10) / Tel. No. : Fax No. : Email Address	Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6) / / / /	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or you are any or you or any or you are any o		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10)	Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6) / / / /	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
Any interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or you are any or you or any or you are any o		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10) / Tel. No. : Fax No. : Email Address	Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6) / / / /	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE
ny interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or young my interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or young my interfineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any or young my interfineations, interfine they are signed or initiated by you or any or young my interfineations, if they are signed or initiated by you or any or young my interfineations, if they are signed or initiated by you or any or young my interfineations, if they are signed or initiated by you or any or young my interfineations, if they are signed or initiated by you or any or young my interfineations, if they are signed or initiated by you or any or young my interfineation No. 21-2017) REQUIREMENTS **REQUIREMENTS** **PhilicEPS Registration Number** **PhilicEPS Registration Number** **PhilicEPS Registration Number** **PhilicEPS Registration Number** **Professional license/ CV (consulting services)* **PhilicEPS Registration Number** **Professional license/ CV (consulting services)* **Professional license/ CV (consulting services)* **Image: PhilicEPS Registration Number** **PhilicEPS Registration Number** **PhilicEPS Registration Number** **PhilicEPS Registration Number** **Professional license/ CV (consulting services)* **Image: PhilicEPS Registration Number** **Professional license/ CV (consulting services)* **Image: PhilicEPS Registration Number** **Professional license/ CV (consulting services)* **Image: PhilicEPS Registration Number** **Image: PhilicEPS Registrati		Shopping Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9) / / / FOR ABC'S ABOVE 500K FOR ABC'S ABOVE 50K	Procurement- Lease of Real Property or Venue (Section 53.10) / Tel. No. : Fax No. : Email Address	Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6) / / / /	Procurement- Emergency (Section 53.2) / / FOR ABC'S ABOVE SSK FOR ABC'S ABOVE



UNIVERSITY OF THE PHILIPPINES LOS BANOS Los Banos, IV-A VAT Reg. TIN: 000-554-005-00004

Request for Quotation/ Bid Form (Technical Specifications)
BIOTECH-IMMUNOLOGY LABORATORY

UPLB BAC SECRETARIAT BY: DATE: 06-01-2023

LIPLR-RO- 4	-037-23-I-R fant
DEADLNE O	-037-23-I-R Pant F SUBMISSION
UPLB-RQ-	

						ls	UBMISSIO	N:	
				Da Fu	te nd Code:	General Fund Code:46-0	\/ith	PCA	B Lice um Award 1 - Pourt
ollers Name:				M	OP:	Small value procurem 536-3680	CIN	, ,	tane.
				C	entact No: entact Person	Lorna U. Manalo/Anchilla L.	Comia	bong	1 - 1001
				5 CO	ditions below.			1.	
	Please quote your lowest price on the item's listed	below, st	ubject	to the General Col	ididon's become	- March entri	es out N/A fo	or not applica	ble.
	All entrops	must be to	vpewrit	ten or in print and p	roperty accomplish	ed. Do not leave blank chili	co, par		
idders shall p	rovide correct and accurate information required in this form. All clinicals to be denominated in Philippine Peso shall include all taxes, duties, a splicate the BRAND and MODEL NUMBER for equipment and its access compliance issued by the manufacturer and sample.		DOV	able	0.00	t -t te un-amended S	ale literature,	unconditiona	al statement of
and machine	to be denominated in Philippine Peso shall include all taxes, duties, a	eries or pe	eripher:	uls. Evidence shall I	e in the form of ma	indiadurers diramendos			
dders must i	ndicate the BRAND and MODEL NUMBER for equipment and	no hefore	o issuo	nce of Puchase ord	er (P.O.).				
uotations ex	ugh fax/email is acceptable. Writining under the rejected, ceeding the Appoved Budget for Contract shall be rejected, requirements per Memorandum No. 03 Series of 2017 shall be attached	nbou anpu	mission	of the quotation		I BUASE A)			
thers:	requirements p	ILITATION	NOFN	ITL ANIMALHOUS	SE FACILITY (Elect	incal Works) Frince 47			EVALUATION
	RFQ for PR No.: Services (FOR RELIABLE			ESTIMATED UNIT	ESTIMATED	OFFERRED SPECIFICATION	QUOTED	TOTAL	floave this space
		UNIT OF	OTY	APPROVED	APPROVED	recorded approximately as their over	UNIT PRICE	PRICE	Evaluators only
NERAL NAME	REQUIRED SPECIFICATIONS	MEASURE	ui i	CONTRACT	CONTRACT	parameters of each requestioning			
F THE ITEM	The state of the s		eglei						
- X	of tab animal house			130,000.00	190,000.00				
HALF a of	Labor (electrical works) to the	Lot	1	100,000			1		
ectrical	facility Phase IV								
rks)	Scope of works: Mobilization of tools for the electrical installation at Immunological						1	+	
	Mobilization of tools for the electrical assumed by the Electrical Tesing Laboratory Animal House.	-	-	-				1	1
	Commence work as per plan no as required by				 				
	Inspector/End-User. •Rigid Lay-outof conduits with proper connector and fittings.				-			1	-
	Provision of conduit support/pracket.		-	-	1			-	
	Wire and cable hamessing/Layout		+	1			+		
	- Fivure and devices installation.	-	1				-		
	The same termination and splicing.		1						
	Completion of electrical works and other related job. Inspection and testing (by UPMO, End-User, Contractor).								
	- I was assign and testing (by UPWO, Ello Osta)	-	-						
	Inspection and teams to built plan.		1	TOTAL AF	190,000,00		THE INCORD	e.	
	Submission of Electrical as-built plan.	1	1	TOTAL AS	190,000.00	TOTAL QUOTED AMOUN	AT IN WORD	S:	
	Submission of Electrical as-built plan.		1	TOTAL AS	190,000.00	TOTAL QUOTED AMOUN	IT IN WORD	s:	
Reviewed an	Submission of Electrical as-built plan. A Checked BV: July July A Checked BV: July July A Checked BV: July	1	1						
Reviewed an	Submission of Electrical as-built plan. A Checked BV: July July A Checked BV: July July A Checked BV: July	1	1			if we can have your quot	ation in the		on as
Reviewed an	Submission of Electrical as-built plan. A Checked BV: July July A Checked BV: July July A Checked BV: July	which yo	ou can			if we can have your quot	ation in the		on as
Reviewed an	Submission of Electrical as-built plan. A Checked BV: July July A Checked BV: July July A Checked BV: July	which yo	ou can			if we can have your quot	ation in the		on as
Reviewed an	Submission of Electrical as-built plan.	which yo	ou can				ation in the		on as
e quote at yo	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG pur government price (including VAT) and state that the time within possible on o			make delivery. It v dline stated herei	rill be appreciated	if we can have your quot ALLO ALLO ALLO BUYER/EYOUSER	eation in the command	office as soc	on as
e quote at yo	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG BOUR government price (including VAT) and state that the time within possible on o			make delivery. It v dline stated hereis	rill be appreciated	if we can have your quot ALLO ALLO A.U. MANALO/ANCHILLA L BUYER/ EYO-USER	comia comia	office as soc	on as
e quote at yo	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG BOUR government price (including VAT) and state that the time within possible on o			make delivery. It v dline stated hereis	rill be appreciated	if we can have your quot ALLO ALLO A.U. MANALO/ANCHILLA L BUYER/ EYO-USER	comia comia	office as soc	n as
s AND CONDE e quotation's st rear to assure t	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG Dur government price (including VAT) and state that the time within possible on or possible on or possible on or possible on the state of administration of the state of administration of the state of administration of the state of administration of the state of administration of the state of administration of the state of administration of the state of administration of the state of administration of the state of the state of administration of the state of the st	required free	m the co	make delivery. It v dfline stated hereis intract ewardee for a m XPENDABLE SUPPLI	LORNAL LO	if we can have your quot ALLO ALLO A.U. MANALO/ANCHILLA L BUYER/ EYO-USER	comia comia	office as soc	on as
s AND CONDE e quotation's st dor to assure t um of one (1)	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG Describe on of the state that the time within possible on of the state that the time within possible on of the state that the time within possible on of the state that the time within possible on of the state that the time within possible on of the state that the time within possible on of the state that the time within the state of the state that the time within the state of the state that the time within the state of the state that the time within the state of the state that the time within the state of the state that the time within the state of the state that the time within the state of the state that the time within the state of the state that the time within the state that the state that the state that the state that the st	required from	m the co	make delivery. It v dfline stated hereis intract ewardee for a m XPENDABLE SUPPLI	LORNAL LO	if we can have your quot ALLO ALLO A.U. MANALO/ANCHILLA L BUYER/ EYO-USER	comia comia	office as soc	on as
s AND CONDE e quoteion's stroot to assure to um of one (1)	Submission of Electrical as-built plan. JOSELITO C. VILLENA BAC TWG BAC TWG Dur government price (including VAT) and state that the time within possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible or possib	required from the case of and other to	m the co f NON-E	make delivery. It will differ stated herein intract everdee for a mixXPENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLI	LORNAL LO	if we can have your quot ALLO ALLO A.U. MANALO/ANCHILLA L BUYER/ EYO-USER	comia comia	office as soc	on as
e quote at your sequence of the same of the same to the same to the same of th	Submission of Electrical as-built plan. JOSELITO C. VILLENA BAC TWG BAC TWG Dur government price (including VAT) and state that the time within possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible or possib	required from the case of and other to	m the co f NON-E	make delivery. It will differ stated herein intract everdee for a mixXPENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLICENDABLE SUPPLI	LORNAL LO	if we can have your quot ALSIA (LC) AU, MANALOIANCHILLA I. BUYERI EVID-USER (2) menths, in the case of EXP End-user of the delivered supp	ation in the Commandation	office as soc	on as
s AND CONDE e quotations si rdor to assure t num of one (1) Nery period will ord of contract. LB reserves the y interineations	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG Dur government price (including VAT) and state that the time within possible on on the state of administration of the state of administration of the state of administration of the state of the state of the state of administration of the state of	required free the case of and other to hersity. of your duly	m the co	make delivery. It will be a stated herein stated herein stated herein stated herein a supplication stated herein seed representative/s.	LORNAL LO	if we can have your quot ALSIA (LC) AU, MANALOJANCHILLA I. BUYER/ EVID-USER (2) months, in the case of EXP End-user of the delivered supp Negotiated Procurems	ation in the common the common terms of the co	office as soci	on as
s AND CONDE e quotations si refer to assure is uum of one (1) twery period will and of contract . LB reconvess the y interineations	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG Dur government price (including VAT) and state that the time within possible on on the state of administration of the state of administration of the state of administration of the state of the state of the state of administration of the state of	required from the case of and other to hersity. of your duly	m the co f NON-E	make delivery. It vidiline stated herein intract everdee for a mixpenDaBLE SUPPLI condition stated hereined representative/s.	Negotisted Procusement Learner of Res	if we can have your quot ALLO ALLO ALLO ALLO ALLO ALLO BUYER EYD-USER (3) months, in the case of EXP End-user of the delivered supp Negolisted Procurema Scientific, Scholarly of Ar Work, Exclusive Teachmooth	ation in the COMIA COM	pplies, or a	n as
s AND CONDI- e quotation's sit dor to assure is um of one (1) very period will and of contract. LB reserves the	Submission of Electrical as-built plan. JOSELITO C. VILLENA BAC TWG BAC TWG Dur government price (including VAT) and state that the time within possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible on or possible or possib	required from the case of and other to hersity. of your duly	m the co f NON-E ems and authoriz	make delivery. It v dfline stated herein intract everdee for a m XPENDABLE SUPPLI condition stated herein ted representative/s.	In the appreciated in the second in the seco	if we can have your quot AUSIC AUSICALLA L BUYER ENDUSER (2) months, in the case of EXP End-user of the delivered supp Negoliated Procurems Scientific, Scholarity or Av work, Exclusive Tockmoley Media Soviere (Section	ation in the COMIA COM	pplies, or a	n as
s AND CONDE e quotations si refer to assure is uum of one (1) twery period will and of contract . LB reconvess the y interineations	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG Dur government price (including VAT) and state that the time within possible on on the state of administration of the state of administration of the state of administration of the state of the state of the state of administration of the state of	required from the case of and other to hersity. of your duly	m the co f NON-E ems and authoriz	make delivery. It vidline stated herein stated herein expended for a mixpendable supplied condon stated herein ed representative/s. Negotiate: Procurement: Value Procure (Section 53.	In the approciated to the community of t	if we can have your quot AUSIC AUSICALLA L BUYER ENDUSER (2) months, in the case of EXP End-user of the delivered supp Negoliated Procurems Scientific, Scholarity or Av work, Exclusive Tockmoley Media Soviere (Section	comia COMIA CO	pplies, or a	on as
s AND CONDE s Quitation's st dort a sasser is dort a sasser is turn of one (1) very period will will of contract in the reserves the preference is a server in the preference is a server in the server is the preference is a server in the server is a server in the preference is a server in the server is a server in the server is a server in the server is a server in the server is a server in the server is a server in the server is a server in the server is a server in the server is a server in the server Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG Dur government price (including VAT) and state that the time within possible on o possib	required from the case of and other to hersity. of your duly	m the co f NON-E ems and authoriz	make delivery. It y dfline stated herein stract everdee for a m XXPENDABLE SUPPLI condition stated herein ed representative/s. Negotistee Procurement Value Procu- Value Procu-	In the appreciated in the second in the seco	if we can have your quot AUSIC AUSICALLA L BUYER ENDUSER (2) months, in the case of EXP End-user of the delivered supp Negoliated Procurems Scientific, Scholarity or Av work, Exclusive Tockmoley Media Soviere (Section	comia COMIA CO	pples, or a	on as	
AND CONDET (updations) and one of the same of one (1) early period will not contract a Bercenves to Interferentiations comments for 5	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TW	required from the case of and other to hersity. of your duly	m the co f NON-E ems and authoriz	make delivery. It vidline stated herein stated herein expended for a mixpendable supplied condon stated herein ed representative/s. Negotiate: Procurement: Value Procure (Section 53.	Negotiated Procurement Lease of Res	if we can have your quot AUSIC AUSICALLA L BUYER ENDUSER (2) months, in the case of EXP End-user of the delivered supp Negoliated Procurems Scientific, Scholarity or Av work, Exclusive Tockmoley Media Soviere (Section	COMIA COMIA FENDABLE SU PROCEEDINGS Goding pples, or a	on as	
AND CONDITION OF THE PROPERTY OF STATE	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG BAC TWG For a period of at least (30) calendar days from the date of submission and the valid for a period of at least (30) calendar days from the date of submission. The submission of the submission of	required from the case of and other to hersity. of your duly	m the co f NON-E ems and authoriz	make delivery. It vidine stated herein mirrott everdee for a mixpenDABLE SUPPLI condition stated herein ed representative/s. Negotister Procurement-1 Value Procure (Section 53	In the appreciated to the second seco	if we can have your quot AUSIC AUSICAL AUSICA	COMIA COMIA PENDABLE SU The Histic Region (Section Company and Company an	pptES, or a	on as
AND CONDITION quotation's state of the assure of term of one (1) ery period with did of contract of the cont	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TWG BAC TWG For a period of at least (30) calendar days from the date of submission and the valid for a period of at least (30) calendar days from the date of submission. The submission of the submission of	required from the case of and other to hersity. of your duly	m the co f NON-E ems and authoriz	make delivery. It wildline stated herein intract ewardee for a mixpenDABLE SUPPLI condition stated herein condition stated herein seed representative/s. Negotiate (Section 53	In the appreciated to the second seco	if we can have your quot AUSIC AUSICAL AUSICA	COMIA THE Negotian State SU THE NEGOTIAN ST	pptES, or a	en as
AND CONDITION AND CO	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TW	required from the case of and other to hersity. of your duly	m the co f NON-E ems and authoriz	make delivery. It wildline stated herein intract ewardee for a mixpenDABLE SUPPLI condition stated herein condition stated herein seed representative/s. Negotiate: Negotiate: Yatus Procuse (Section 53)	In the appreciated to the second seco	if we can have your quot AUSIC AUSICAL AUSICA	COMIA COMIA COMIA FENDABLE SU FINANCIA COMIA ACCORD COMIA COMIA ACCORD COMIA pptES, or a	on as	
AND CONDITION Quotation's at the total assure tem of one (1) Breaches the description of the contract of the c	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TW	required from the case of and other to hersity. of your duly	m the co f NON-E ems and authoriz	make delivery. It vidline stated herein stated herein mirratt ewardee for a mixPPNDABLE SUPPLI condition stated herein seed representative/s. Negotiate: Procurement: Value Procure (Section 53	In the appreciated to the second seco	if we can have your quot AUSIC AUSICAL AUSICA	COMIA THE Negotian State SU THE NEGOTIAN ST	pptES, or a	n as
AND CONDITION OF THE PROPERTY OF STATE	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TW	required from the case of and other to be safe, of your duty	m the co	make delivery. It v dfline stated herein mirract ewardee for a m XXPENDABLE SUPPLI condition stated herein ed representative/s. Negotister Procurement Value Procu- (Section 53	Negotiated Procurentent ent (Section 53.1)	if we can have your quot AUSIC AUSICAL AUSICA	COMIA THE Negotian State SU THE NEGOTIAN ST	pptES, or a	n as
AND CONDITION OF THE PROPERTY OF STATE	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG BAC TW	required from the case of and other to be safe, of your duty	m the co	make delivery. It v dfline stated herein mirract ewardee for a m XXPENDABLE SUPPLI condition stated herein ed representative/s. Negotister Procurement Value Procu- (Section 53	Negotiated Procurentent early (Section 53.1)	if we can have your quot AUSIC AUSICAL AUSICA	COMIA THE Negotian State SU THE NEGOTIAN ST	pptES, or a	n as
AND CONDITION OF A QUICTED AND CONDITION OF A QU	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG Dur government price (including VAT) and state that the time within possible on a period of at least (30) calendar days from the date of submission. The manifecturing defects shall be corrected by suppler, a wormarky security shall be water and two (2) to three (3) years extended warranty (if applicable) is shall be made to the tweet quotation which compiles with the technical speciations, highly to reject any or all offers as may be considered most advantageous to the United to the tweet quotation when compiles with the technical speciations, highly to reject any or all offers as may be considered most advantageous to the United by the price of the construction of the tweet quotation with they are signed or initiated by you or any experiences of covernmenting shall be valid only if they are signed or initiated by you or any suppliers (GPPB Resolution No. 21-2017) REQUIREMENTS Sensor Perm E Regained on Number of the construction of the constr	required from the case of and other to be safe, of your duty	m the co	make delivery. It v dfline stated herein mirract ewardee for a m XXPENDABLE SUPPLI condition stated herein ed representative/s. Negotister Procurement Value Procu- (Section 53	Negotisted Procurement lear of Res Property or Ver (Section 53.3)	if we can have your quot AUSIC AUSICAL AUSICA	COMIA THE Negotian State SU THE NEGOTIAN ST	pptES, or a	n as
and conditions at your conditions at your conditions at your conditions at door to assure turn of one (1) are your conditions at door to assure turn of one (1). Breserves the Interincations of confined and the Interince at the Interince at the Interince at Interince at Interince at Interince at Interince at Interince at Interince at Interince at Interince at Interince at Interince Interince at Interince a	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG Dur government price (including VAT) and state that the time within possible on a period of at least (30) calendar days from the date of submission. The manifecturing defects shall be corrected by suppler, a wormarky security shall be water and two (2) to three (3) years extended warranty (if applicable) is shall be made to the tweet quotation which compiles with the technical speciations, highly to reject any or all offers as may be considered most advantageous to the United to the tweet quotation when compiles with the technical speciations, highly to reject any or all offers as may be considered most advantageous to the United by the price of the construction of the tweet quotation with they are signed or initiated by you or any experiences of covernmenting shall be valid only if they are signed or initiated by you or any suppliers (GPPB Resolution No. 21-2017) REQUIREMENTS Sensor Perm E Regained on Number of the construction of the constr	required from the case of and other to be safe, of your duty	m the co	make delivery. It v dfline stated herein mirract ewardee for a m XXPENDABLE SUPPLI condition stated herein ed representative/s. Negotister Procurement Value Procu- (Section 53	Infili be appreciated to the control of three case of reaching and procurement case of reaching and procurement (Section 5.3.1)	if we can have your quot ALLO ALLO BUYER/ END-USER (2) months, in the case of EXP End-user of the delivered supp Negoliated Procurems Scientific, Scholary or Ar Work, Exclusive Technolo Medical Services (Section)	COMIA THE Negotian State SU THE NEGOTIAN ST	pptES, or a	in as
AND CONDITION OF THE PROPERTY OF STATE	Submission of Electrical as-built plan. d Checked By: JOSELITO C. VILLENA BAC TWG Dur government price (including VAT) and state that the time within possible on a period of at least (30) calendar days from the date of submission. The manifecturing defects shall be corrected by suppler, a wormarky security shall be water and two (2) to three (3) years extended warranty (if applicable) is shall be made to the tweet quotation which compiles with the technical speciations, highly to reject any or all offers as may be considered most advantageous to the United to the tweet quotation when compiles with the technical speciations, highly to reject any or all offers as may be considered most advantageous to the United by the price of the construction of the tweet quotation with they are signed or initiated by you or any experiences of covernmenting shall be valid only if they are signed or initiated by you or any suppliers (GPPB Resolution No. 21-2017) REQUIREMENTS Sensor Perm E Regained on Number of the construction of the constr	required from the case of and other to be safe, of your duty	m the co	make delivery. It v dfline stated herein mirract ewardee for a m XXPENDABLE SUPPLI condition stated herein ed representative/s. Negotister Procurement Value Procu- (Section 53	Negotisted Procurement lear of Res Property or Ver (Section 53.3)	if we can have your quot ALLO ALLO BUYER/ END-USER (2) months, in the case of EXP End-user of the delivered supp Negoliated Procurems Scientific, Scholary or Ar Work, Exclusive Technolo Medical Services (Section)	COMIA THE Negotian State SU THE Negotian St	pptES, or a	in as

Position: